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NB L Question No. 1 1s compulsory. Answer any FIVE from the remaining guestions
2 Figurss te the right indicats marks for the question.

3o 10as the quality of answers and the capacity to analyze will count more 1n the
cvaluation of answers
4. Draw goed diagrams where mecessary

| a) Explain the {ollowing concepts in brief.. ... (51

1} Unkty G1) market sconomy (1) demand (v} (nffen goods
(VIN. PV,

bl Answer briefly - (31

1. Why do the firms need 1o forecast demand?
1. Explain the nead for czpital budgesng.

2. a) bxplain the relationship between Managenal Economics and vanous decision
SEICNCES, (8}

b) The demand and dhe supply functions ¢ 2 commodity marker are sive
=14 - 2Pand 3= 2 +4P
Dezemmune the equtlibinum price and guantiiy. Find the new price and guaniiy if the
demand curve changesto D=21 -2 P (10}
3 a) Deseribe how the consumer attains maximum satisfaction in the carding!
LUnhov analysis. (8:

b) Describe different kinds of elasticity of demand and state the formulas 1o
measure them. (5 )

c) iy Giver the demamd fonchon for smzil engnes P = 2000 - 5 Q where P 15 the ones
=2 Q is the number of erigines sold per month, what will be the price of the engine 1f the
T o = 11 - 3
sz_om wants 10 s=1i 20 engmies per month’ (_'5)

i) What is the price ¢lasticity of demand if P = 5007

< . Explam Use behavior ! the sroduction funchon in the short cun and in 19
Lone run with ithe help of soguanis. {1

B
2) Given the 1otal cost function TC = 100Q -2 0+ 0.2 Q‘\? ( "l_)



8

Q7.

Determine the average cost [unctiop and the rate of output to minimize
dvCrnge cost

¢) Explamn the relationship between AC and MC. (4)

5. a) Explain how does the [irm determine profit maximizing rate ol output. (¥)
b) Descnbe Break Even Analysis ol the firm. {3)
¢) Given that the lixed cost 1s Rs. 600000 and price Rs 4 and the AV = 2,

find the quantity at which break even is achieved. If the finn desires to
camn a profit of Rs. 100000, how much shouid it produce? c%)
fi. a) Why is price ngidity observed in the Oligopoly market”? (8)

by Explam the use of the selling cost b y the firms i the monopohstic
compelition. (5)

c) The firm’s capital budget is $ 20000 and the cost of the capital is 12%,

Livaluate the following projects by NPV method. (5)
Net Cash Flows $ per year.
s _4 - _-_.--ﬁ-...E._,
Year ] 9000 6700
Year 2 9000 G700
Year 3 000 G700

7.1) Desernibe the use of Input Output Analysis [or macroeconomic lorecastng
And plannmg (%)

b} Ghiven the following the data of two sectors, determine the total outputs of
the szetor when the final demands change to 180 and 440 units respectively.
(8).
A B F

A 200 250 50

B 104 U0 400G
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